#
AL HNE AW

# 8 AX 1A *Ha [BEX]) A#kE
F 150 FLARZ 8 - i Eznnn /N

%)

~ 5501
25

(%14%

B

F B A5 5401
(>$%)

HEE) ©
At o

L

2074

PUR RS Hiiek B BRAERR - FRARPTEE - @0 " 0 B PSR s | sy

(PEER

B 342 35
(N2

WSEFE HBEERFAM T GtatAs)  F (384 Bw)

#t 8

ey -~ 09 | KK | e | SEKE RS H RG-SR R R M-t -

Jm R B R Y ER IR R R HH RN ~ BE-CEER KB - | R EY | K< - |
R | ESREAERECERD-Of - KmgH - <m&H - #KRm | o RS Ha
R AR

K - AR - YIRS AE H B IR -O I Y | 180 - IR R - A
FVImIIRH - SO <ERKIRPRERB< | UMK - 8T - ERKRE | E R P
SR - Kio#iRe-HRIRR-E - SRR SR DR RS- XEk - REHE
IRHEHREED - iSO HEEIREE - ERIRF I -

Bk B - HHERERER KK ERHE - BEKK - EORIE KR EBCIHRE ~ M-SR IZ R RIL L IR 52
= - | sEKRPEY | B - $g | HEE - EREN-RIREHER | 8 - SREMGER - - R X
ERE R ~ DGR | I | LI - EHERE - [ KO3 ERiRE - DEKH-RIERN - 2GRl
EA - SIRMEROMKIIE [HERE | - - MER - SRR IKREHR IS - M= ME
I IRENWRRE - HREERNNK ~ SHERRK |18 1R e K S 5w - SR - @
IE - #KHEE - < KRR EEEKKEX | 0 [ EHE - SRR - SRR - e

TR - | D41 1R - -1 Emkuinﬁﬁxm%mTﬂmeﬁmm HIZR R H AR K
i - R RS E KRR UK -~ RIK [ | ke -

BRS -~ PRI EREREE AR LIIR R R R - SERHES - SRS IR I IR L K- - BB -
1E o S ER WP BRAR - ERIRSHE - MBS E<ERQOEE - MUniR HEIGEEKE - &R
oM | HIERIR - JH 0 SR R KR T RN -~ SRR -

(g v 1)




4K,
LB NG

05 B HEREEFRMA T (FtAf) Hi 4 Ba)

8 A% 2 A *A[L£4] AL

#

~ 5501

B #8MKR4H_5401

# 8

T | SREERRERE I - HINIE - SE<HEFEOK-RE -~ WEHK-BR-OEIDRRIE | ek
58 o - - SRR UK T IR | ) | - SRR RO RN | EERRTE T RS
N RRE o IKIHKE-K- -~ EICUESESRE I RERIRRE - K-IRHT - IR EE BRI K IR 3 B R
M-SR - SRR R - R - E IR - KD KGR m e N S E IR
ORI < 1 BB - ISR RIS R S -~ e S0 - TR - SR IR R R
L H - AR - K< - PR M - RSN e H< - DEPE-OER - f208% -
HOH -~ i o pEEEER - BRERRND ~ R PO HIK EE - R IREE K IR 2 iR BB T R X -
SERCI K - I AT R R -

2 o - 2 e < R 0 B | VETHIIR ~ HARE < R OGIMHER IR 2L ~ dsEK- 1
CH- -~ RINBENRNGE - 19 | X | IH - SRS R HRH-CE<GER - RIE|E -
S LSRR - | R | RR<ERI) |41 M -~ HBKSEHRKRE-SEE - SE<Mic
BEKHE -

()




B x #F ® X £ & A &K
95 B EF HETEAFTM 4 GritAwm)  He (3t Ba)  FAEFALFR

#8 BExMsEX  HBKEE 540145501 £ 8 EE 3R *vhA[KEA]RHBEE

U TFTAMAEXAAER
B TR TERAAY TKEX ) Bl Oz A FEAHZEABERAYE ) EA%

B BEHE B 20FALEEX ° 25%




B v & i3 X % i ri:] 4,
05K FELEHEM @ (AL ma GtHBa) FMAEEAETR
#B BEXHEX  FHEKAHE_5401-5501  # 8 FEE 4R ‘HAE[LEEX] RS

Part One: Vocabulary 10%

For each sentence below, choose the best answer that completes the sentence.

1. Abudget of five dollars a day is totally for a trip round Europe.
A) inadequate B) incapable C) incompatible D) invalid
2. In our highly technological society, the number of jobs for unskilled worker is

A) shrinking B) obscuring C) altering D) constraining

3. The fire has caused great losses, but the factory tried to __ the consequences by saying that
the damage was not as serious as reported.
A) decrease B) subtract C) minimize D) degrade

4. Satellite communications are sQ up-to-date that even when ____ in the middle of the Pacific,
businessmen can contact their offices as if they were next door.
A) gliding B) cruising C) piloting D) patrolling

5. They have always regarded amanof _ and faimess as a reliable friend.
A) robustness B) temperament C) integrity D) compactness

6. Theyare - investors who always make thorough investigations both on local and

international markets.

A) implicit B) conscious C) cautious D) indecisive

7. In addition to the rising birth rate and immigration, the  death rate contributed to the
population growth.
A) inclining B) increasing C) declining D) descending

8. The town planning commission said that their financial outlook for the next year was
optimistic. They expect increased tax
A) efficiency B) revenues C) privileges D) validity

9. The basic causes are unknown, although certain conditions that may lead to cancer have been

A) identified B) guaranteed C) notified D) conveyed
10. Over the past ten years, natural gas production has remained steady, but __.  hasrisen
steadily.

A) dissipation  B) disposal C) consumption D) expenditure
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Part Two. Reading comprehension. 20%
Passage One

It is hardly necessary for me to cite all the evidence of the depressing state of literacy. These figures
from the Department of Education are sufficient: 27 million Americans cannot read at all, and a further
35 million read at a level that is less than sufficient to survive in our society.

But my own worry today is less that of the overwhelming problem of elemental literacy than it is
of the slightly more luxurious problem of the decline in the skill even of the middle-class reader, ot his
unwillingness to afford those spaces of silence, those luxuries of domesticity and time and concentration,
that surround the image of the classic act of reading. It has been suggested that almost 80 percent of
America’s literate, educated teenagers can no longer read without an accompanying noise (music) in the
background or a television screen flickering at the comer of their field of perception. We know very little
about the brain and how it deals with simultaneous conflicting input, but every common-sense intuition
suggests we should be profoundly alarmed. This violation of concentration, silence, solitude goes to the
very heart of our notion of literacy; this new form of part-reading, of part-perception agéinst background
distraction, renders impossible certain essential acts of apprehension and concentration, let alone that
most important tribute any human being can pay to a poem or a piece of prose he or she really loves,
which is to learn it by heart. Not by brain, by heart; the expression is vital. '

Under these circumstances, the question of what future there is for the arts of reading is a real one.
Ahead of us lie technical, psychic, and social transformations probably much more dramatic than those
brought about by Gutenberg, the Germap inventor in printing. The Gutenberg revolution, as we now
know it, took a long time; its effects are still being debated. The information revolution will touch every
fact of composition, publication, distribution, and reading. No one in the book industry can say with any
confidence what will happen to the book as we’ve known it.

11. The picture of the reading ability of the American people, drawn by the authoris _
A) rather bleak  B)fairly bright  C) very impressive D) quite encouraging
12. The author’s biggest concernis
"A) elementary school children’s disinterest in reading classics.
B) the surprisingly low rate of literacy in the U.S.
C) the musical setting American readers require for reading
D) the reading ability and reading behavior of the middle class
13. A major problem with most adolescents who can read is
A) their fondness of music and TV program.
B) their ignorance of various forms of art and literature
C) their lack of attentiveness and basic understanding
D) their inability to focus on conflicting input
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and understand the link between environment and health. Third, we must be able to communicate
technical information in a form that citizens can understand. If we can accomplish these three goals in
this decade, maybe we can finally stop environment degradation, and not merely hold it back. We will
then be able to spend poliution dollars truly on prevention rather than on bandages.

16. We can infer from the firs two paragraphs that the industrialists disregard
environmental protection chiefly because
A) they are unaware of the consequence of what they are doing
B) they are reluctant to sacrifice their own economic interests
C) they have not yet come for them to put due emphasis on it
D) it is difficult for them to take effective measures '
17. The main task now facing ecologists, environmental activists and conservationists is
A) to prevent pollution by legislation, economic incentives and persuasion
B) to arouse public awareness of the importance of environmental protection
C) to take radical measures to control environmental pollution
D) to improve the quality of life by enforcing environmental standards
18. The word “tunnel-visioned” (Line 2, Para.4) most probably means “___ ”.
A) narrow-minded B) blind to the facts
C) short-sighted D) able to see only one aspect
19. Which of the following, according to the author, should play the leading role in
the solution of environmental problems?
A) Legislation and government intervention.
B) The industry’s understanding and support.
C) The efforts of environmental health professionals.
D) The cooperation of ecologists, environmental activists and conservationists.
20. Which of the following is true according to the last paragraph?
A) Efforts should be exerted on pollution prevention instead of on remedial measures.
B) More money should be spent in order to stop pollution.
C) Ordinary citizens have no access to technical information on pollution.
D) Environmental degradation will be stopped by the end of this decade.
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Part Three: Translation 20%
Translate the following passage into Chinese

The decline of manufacturing in rich countries is a more complex story than the piles of Chinesc-
made goods in shops suggest. Manufacturing output continues to expand in most developed countries-
in America, by almost 4% a year on average since 1991. Despite the rise in Chinese exports, Amcrica is
still the world’s biggest manufacturer, producing about twice as much, measured by value, as China.

The continued growth in manufacturing output shows that the fall in jobs has not been caused by
mass substitution of Chinese goods for locally made ones. It has happened because rich-world
companies have replaced workers with new technology to boost productivity and shifted production
from labor-intensive products such as textiles to higher-tech, higher value-added, sectors such as
pharmaceuticals. Within firms, low-skilled jobs have moved offshore. Higher-value R&D, design and
marketing have stayed at home.




